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SMART TEACHERS ASSOCIATION & WAY TO SUCCESS GROUPS
SSLC MODEL PUBLIC EXAMINATION - 2022 - 2023
SCIENCE / syflaflwed

Time Allowed : 15 mins + 3 Hrs
&6V jerey : 15 HifLb + 3 1oewd

Maximum Marks : 75
QorHs WHLICLeIEET : 75

Instructions: (1) Check the question paper for fairness
of printing. If there is any lack of
fairness, inform the Hall Supervisor
immediately.

(2) Use Black or Blue ink to write and
underline and pencil to draw diagrams.

Note : This question paper contains four parts.

sifeyemy: (1) Senadbs elamesend Flure oFHULSTS
2 6iT6NgHT GTENLIHEMEN  FALMTSHBISOBT6ITENS|ID.
SFFLLHN60 GeOBUIbHLIL 6T DI
HeoibTerilLTemfL(D 2 1 emguined GEHTelssaD.
(2) H6VLD DILEVHI HBLIL MOUNHE TR BHINIHBES LD,
g HBHTYBOUSHBESGID LWTILGHS Ceuewi(BLD.
LILRIS6T aIenIaldBE@ OLeTdsd LIWLGTLIGSHHNLD.
SOy : BelelamHHTen BTG LGHDHMm6ns BT gl

u@g — |/ PART -1

Answer all the questions / simeisgl alaméseEpd@l ol Welssa). 12 x1=12
Choose the most suitable answer from the given four alternatives and write the option code with the
corresponding answer. / Qar@saii L breai@ el seled 1sad giUmLw el ulemer  CoHibosBHS!

GSHUI B elenLuienemd Gxjshadl sTIRHMLD.

1. Where should an object be placed so that a real and inverted image of same size is obtained by a convex lens

a) F b) 2F

G&eNsvsirdled  GQumTeflenr ienelB@ —FLomen,

Cauemrigul GFHTEmEV6)]
o) F o) 2F

c) infinity d) between F and 2F
SHMELBSIOTEN  QUOUILTIDUD  SHleml_dbad  GUITHET  emeudaHLILIL

®) mpfleord Qsmemevey ) F s 2F s@ib Genuisy

2. Arrange the following media in ascending order on the basis of speed of sound

a) air > glass > water
c) glass < water < air

b) air < water < glass
d) glass > water > air

@60 26m_HHFH60 CFevsvId HemFCausld Frihdl SHPHETEMID 261 HhiEmen nl auflenguied euflenaFlLbHais.

) HIBW > Hevwrewimy > B
®) sewemimy < BT < HTBHI
3. Match the following

) HTBm < B < HewTewImg
) SHewIemITly > B > SMmyl

1) Specific resistance - (i) volt

2) Potential difference - (if) ohm metre
3) Electric current - (iii) watt

4) Electrical power - (iv) joule

5) Electrical energy - (v) ampere

a)l-ii,2-iii,3-1i,4-iv,5-v
c)1l-ii,2-1,3-iv,4-v,5-iii

b)1-v,2-1,3-ii,4-1ii,5-iv
d)1-ii,2-i,3-v,4-iii,5-iv

QUTHHHIH

1) OeirHenL  6T6mT - (i) Goumsdr_

2) eienpsHs Coumim® - (i) @b BT
3) feBr@emnmi L 1D - (iii) sum

4) 106 gmest - (iv) 860

5) 0eHIeNTBI6EL - (V) ubiwir

o) l-ii, 2-iii,3-1,4-iv,5-v
@1-ii,2-i,3-iv,4-v,5-iii
4. Atrtificial radioactivity was discovered by

a) Becquerel b) Irene Curie
CrwBemsd HHfUIhEHHenend  HemTL MlHH6IT
&) QUELHTI6D 1) e sluyf

) 1-v,2-1,3-i0i,4-1iii,5-1iv
m)l-ii,2-10,3-v,4-iii,5-iv

¢) Roentgen d) Neils Bohr

&) gmewTL 265 ) [heverd Guimiy
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5. group contains the member of halogen family.

a) 15 b) 16t c) 17 d) 18"
Camevmsit GOBWULD 61hH QHTGHHMWF CFTbHHHI
9 156ugI o) 16615 ®) 17augl w) 186ugl
6. Rectified spirit is an agueous solution which contains about of ethanol.
a) 95.5 % b) 75.5 % ) 55.5 % d) 45.5%
6Tfl FTITWLD 6T6USH @@ BILD HMIF60. QBHEVISTON 6IHHemTells FHaisHld SEID.
a1 95.5% o) 715.5% @) 55.5% w) 45.5%
7. Which of the following is not an “element + element — compound” type reaction?
a) Cs) + Oz CO2g) b) 2K + Brag— 2 KBry
€) 2CO(g) + Oz(g)— 2CO2() d) 4Fe(s) + 302~ 2Fez Oy
LeauhelsnalBmisT 61&l “SHeaiiold + Hefiod — G’ almed DI606V.
1) C) + Ozg— COx) <) 2K + Brag— 2 KBr)
@) 2CO(g) + Oyg— 2C0Oxyq) w) 4Fe(s) + 302)— 2Fe2 Osg

8. Identify the conducting tissues by using the arrow marks,

a) A is phloem, B is xylem
g?@ @D b) Ais xylem, B is phloem
c) Both A and B are xylem
A B d) Both A and B are phloem
UL S0 2 6ol SIDLGGHBBm6NH CBTemi(h &L HHIH HHbHMeNd BHEmL s,

a1) A - yGenmuwiid, B - engeuld

o) A - emgeold, B - yGemmuwiid
! L il 8 Awipib B @eiei oo
A B

) A i B @rewi@io  L@smmuwib
9. Nucleotide of DNA molecule is made up of nitrogenous bases. The base pairing occurs in which of the
following pattern?
a) Adenine — Guanine; Cytosine — Thymine b) Adenine — Cytosine; Guanine — Thymine
c) Adenine — Thymine; Cytosine — Guanine d) Adenine — Guanine; Cytosine — Taurine
19.6T607.6] CLP6VGIFnMIE HlULH6TCUITENL (HH6TT MBI JTEQEH HIHIGENTE0 UTH. ST EENeIH6I, HIPHHEWIL  61HS
GBI L elHHHe0 DDA MBI
3l) DIYEMEMETT - GHoUTeneue; enFl CLmFer - emgLoledt
) Slgemeen - enFL BCLTF 6, GHUTeneredl - L6
B) olgenee - G L6, mFl CLTHlsr - @ euTeneuedt
F) DIQENEET - GHeUTeneonsdr; endFl GLmdleir - Lmifledr
10. Which one is referred as “Master Gland™?
a) Pineal gland b) Pituitary gland ¢) Thyroid gland d) Adrenal gland
SIDHEWTL_QIBBIGT  HeMeLeWIDF &HIUILN 6160 BHSLILIGRISH 61517
3)) Werllwisd gy o) Ulwlefl &pnd &) svsyrui@d sy ) S fleoted &L
11. All files are stored in the

a) Folder b) box c) Paint d) scanner
uev GamiseT CFOlbaULBL GSL LD .
) Camiygsh OHT@&IY <) Gl i ®) Paint ) ero@amenrt
12. World AIDS day is observed on .
a) 1%t May b) 31t May c) 151" December d) 1t December
9 0% GIUIL 6 &lerd GBI TLLILBeISH] .
) G 1 o) B 31 ®) w&ouy 15 ) 19Fuf 1
u@g® — 11 / PART -1I
Answer any seven questions. Question No.22 is compulsory. 7x2=14
amaICuenild gy Mmoo EndE alemLWeiobsa)b. alelm 66 22-6@ SLLTWIONG allenL WleidébasaLb.
13. Define one calorie. UEIWE : e HGeuml.
14. Define Critical mass. QUEMTWIM : OTBIHM6D [Hlemm.
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15.

16.

17.

18.
19.

20.

21.

What happens when MgSQ,.7H.0 is heated? Write the appropriate equation.

MgSO4.7H20 2 _lisvu Qeuliiiu@Gshaid Gungl ersiien Blapama? sFfluimsn CougdFFaTUTL Nl 6T(1D&HI%.
How do detergents cause water pollution? Suggest remedial measures to prevent this pollution.

9L FOe6uiT &6l eT6laumm Hew] LOTHLIGSHSHIS M. EDIOTHLTL 1906 SHalJH@GD eubl(pens wimg?
Identify the parts of A, B, C and D in the given figure.

Car@sasiul_Hemen UL A, B, C, D oudlul UTEhisemen SienLWITeNiD &Teulb.

“— b
Expand : a) CNS b) FSH olflourssd Hmd : o) CNS =) FSH
The degenerated wing of a kiwi is an acquired character. Why is it an acquired character?
Hell upenauulen FlenHoumLbH SBHMBHET @ CUBLILILL  UewiL. 66T g QuUBUULL  UewIL  6T6
DIDIPHBLILIGSBEI?
a) Communicable : AIDS :: Non communicable : .
b) Theory of natural selection : Charles Darwin :: Biogenesis :
o)) QHmBm Gmmul : eluIlerd :: OFHmmmr GBIl : .
) Bupensd Cxie] GsTLuT® : gmyeverd Lrjelss = o uljl Uplys Gamium@ : .
What are the consequences of deforestation? STLIANTNGIT60 JBLL Hanlgul 6MensNedei WTene?

22. Calculate the velocity of a moving body of mass 5 kg whose linear momentum is 2 kg m s™1.

588 Benmpuwsiten GUTmGsmeiilsi CBiT&ECHET. G 2 ko 2Hd el salsd s HanFCabshms SHabdHo.

uggd — 11 / PART -III

Answer any seven questions. Question No.32 is compulsory. 7x4=28
amaBuEId g elamssendd alenLweldsab. ellenm semr 32-&@ SLLTWIONS elenLWieioae].
23. Describe rocket propulsion. TTEOEL. e Hme alleNd:@s.
24. a) State Boyle’s law. 3)) utuled eNFenwid Fnmisb.

b) Distinguish between ideal gas and real gas. ) @6 Ut WOBEBID HeLedisvL eumu] - CaumILBEHSHIE.
25. a) Mention two cases in which there is no Doppler effect in sound.

26.

27.

28.

29.

30.

b) Write any two applications of echo?

) Lrleny elensne] BmLOUB (Wppuntd SJemtih GL60HmeNd FnBisb.

o) sigloyrelullen g@HemId @rewi(p LWGTLTHHMET 6T(HIH?

a) Define: Relative Atomic Mass

b) Give any two examples for hetero diatomic molecules.

S QUL ATIBEOB - EUDTUID.

) Caumiul L Fyem peusImBIBEhHE 2 6TBHHIBHTL [HH6T HHb.

a) What is photosynthesis? Where in a cell does it occur?

b) What is adult onset diabetes?

) @olF8Fyhemaes ereiimmsL slstiien? Qg GFsvellsd 6mhIE HewL GLBIESIBE?

<) gl WHIHESHTT BFlfley eTeiBI6d 6reden?

a) What are heart sounds? How are they produced?

b) Give reason : Guard cells are responsible for opening and closing of stomata.

) @BHW PVIH6IT 6I6IIMT6L 6T60T607 DieNeY 6TeUNTH 2 (HeUT 66 ?

) BITWID HHB : QMEVHHIMNHET HMULSBSLD PHAUSBESHID SHTTEIOTEN DeHIOLIL| ST CFe0H6T DEID.
Classify neurons based on its structure.

BULTTEH6T DieuBmlelt iemolilen SigliLienl ulsy slsieuTml eUeNBUILBHSHLILIL (heitement?
Write short notes on UTI.

Aoy utens CrTuS0sTBH (UTI) ubm smosons er1psis.
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31. a) Kavitha gave birth to a female baby. Her family members say that she can give birth to only female babies
because of her family history. Is the statement given by her family members true. Justify your answer.
b) Differentiate : Monohybrid cross and Dihybrid cross.
3l) NBT @ U6l GHMBHMWL CUBOBGSHSTT. ‘Stauflell GO LFLIaTe0 Dieu] G @ LHEDHEHEM6I
o GO QUBOBGHS (WUID  aer S  GBWLU 2 pinlaser  gapfeni.  oeufler  @o0DU
o miifensellen By 2 ewienowrT? o miseT el enwl BWTWILGHSHIS.
o) CapuBsHans : @ Uewild Sevlll BEID @@ LewiLd &6l
32. The molecular formula of an alcohol is C4H100. The locant number of its —OH group is 2.
a) Draw its structural formula. b) Arrive systematically its IUPAC name.
c) Is it a saturated or unsaturated compound?
posamTedss psvdbdaml auruiiurTG CaHi00. oiglsv —OHelt @1 stemwr 2.
) SN DDLU eUTWILILITL DL 6T(HIS. o) IUPAC Quuiflemen efleufldgl e1(0815.
) RFCHFTWID HenBeyBBeNIUIT? [HlenBEIMTHMEIUIT?

u@s — IV / PART -1V

Answer all the questions. Draw diagrams wherever necessary. 3x7=21
SmNHSH MOMbEHEHEGID eilenLWelssalb. CoHemealwimer @ niGefsd LLID alenyuwle]D.
33. a) i) State Snell’s law.
ii) Differentiate the eye defects: Myopia and Hypermetropia.
iii) The colour of the sun is red at sunrise and sunset. Explain.
o) 1) e0@meL elFHemuwid Fnmisb.
i) A Lluriensl WOBEID SITLUTTEN6 &mBUTBSHMeT CaumILIBEHIs.
i) @Aw 2 _sub wBEID wepelsar CuTEl Giwe Heariurs & dAweleEABE. STTERID .
(OR)
b) With the help of a circuit diagram, derive the formula for the resultant resistance of three resistors
connected: a) in series and b) in parallel
) peiiyl I HMLBemeT (1) OHTLT Sewewili () UbD Sewewililed Genemib@Gl CuUTH SHewL HGWD
OaT@UWEN 10eTHMLHHTen CoTemalenul H@&Hhd  WOGIGHBBI LD eenJhEHI SHewlbd (.
34. a) i) Derive the relationship between Relative molecular mass and VVapour density.
ii) In what way hygroscopic substances differ from deliquescent substances.
o) 1) QU cpevddnpl BeoBs@l el ILTHHH@HD 2 siten GHTLiLlensar eume.
ii) mpi0 2 _PehsHd  GFIOMBERSGWD, D 2 Pehdld sy  CaTBIBEHHEGD  Senl Guiwime
Goumur(pseit wireneu?
(OR)
b) i) Metal A belongs to period 3 and group 13. A in red hot condition reacts with steam to form B. A with
strong alkali forms C. Find A, B and C and write the reactions.
if) Explain the types of double displacement reactions with examples.
o) I)A eap 2 Gomsd 3 b GsTLyuD 13 b OsTGHowuwd Fribsal. 0Feh&6Lpu A
prreluy s Gaiba B-m o mauns@b. 2 Gsorsd A-wreig NaOH o et CFips C-03 2 meurd@Lib.
aieoflsv A, B, C wiremeu? elensnicsemert 61(10&I%.
i) @rien. @LLOUWTES eleneiuien elmBHMET HGHHD IBHHIGHM BLOT 6N E 5.
35. a) i) Differentiate Aerobic and Anaerobic respiration.
ii) Draw and label the structure of Oxysomes.
iii) Name the gaseous plant hormone. Mention its two physiological effects.
) 1) CaupuBsHaIs : BIBE HFOITFD WBHID STBIIELEOT FEUTFID.
i) eydbedGeromilelr LILID eIenIhE LITHHIBm6T @&GHH.
i) auruy Memsvullsd o eitenn Hmauy amTTGLTE 61%HI? HTAIIHIEBTL DiH6 GRTWIH CFUISILITHHMET 6T(DHIH.
(OR)
b) i) State the applications of DNA fingerprinting technique.
i) With a neat labelled diagram explain the techniques involved in gene cloning.
=) i) DNA allged Grensd QHTIN6OBI LIS HEVL (DB LILGTLTHEHEET 6T(LSHIS.
i) et @Gemmaiml QHMPOEI_ LSHMBLI UL SHSHIL6T aleur.
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